Algebra 1
Assignment

Simplify.

1) 15(3+4/10)

3) \/g(\/§+\/5)

5) -2V15(2 - 543

7) 245(2+ /10)

9) —10(-572 +2)

11) \/E(\/g+\/g>

13) V/5(4-2v/5)

15) \/B(\/g+\/§)

17) -315(4++/6)

19) V3(2v6 + W10

21) \15(5Vs5 +4/3)

ID: 1
Name

Date Period

2) Vs5(5-35)

4) —\/5(2 +\/5>

6) V2(V3 -3v10)

8) V15(#/6 +/5)

10) 3W2(4+1/2)

12) 3W10(V2 +4)

14) N15(\10 +4/3)

16) 3V3(V6 +1/2)

18) 2\/?(\/§+\/5)

20) ~/15(\/5 +4/3)

22) N6(2/6 +42)



Algebra 1

Assignment

Simplify.

1) 15(3+4/10)
315 - 56

3) \/g(\/§+\/5)
V15 +4/10

5) 2\15(2-5V3)
15 + 3005

7) 25(2+ 10)
w5 + 4002

9) —10(-572 +2)
40vs - s\10

11) \/E(\/g+\/g)
s\3 + /10

13) V/5(4-2v/5)
s - 10

15) \/ﬁ(\/g+\/§)
\@+5\/§

17) -315(4++/6)
~124/15 - 910

19) V3(2v6 + W10
N2 + 330

21) \15(5Vs5 +4/3)
25V3 +3\/§

ID: 1
Name

Date Period

2) Vs5(5-35)
V5 - 15

4) —\/5(2 +\/5)
n2-2

6) V2(V3 -3v10)
—\E+6\E

8) V15(#/6 +/5)
12710 + 53

10) 3W2(4+1/2)

I2N2 + 6

12) 3W10(V2 +4)
6\5 + 12\@

14) N15(\10 +4/3)
5\@+3\E

16) 3V3(V6 +1/2)
9\6+3\/g

18) 2\/?(\/;+\/5)
2\E+2\m

20) ~/15(\/5 +4/3)
20\3 - 1245

22) N6(2\6 +~2)
12+2\/§



Algebra 1
Assignment

Simplify.

1) -5(2+42)

3 o(V7 +4)

5) 4N 10(/5 +1/2)

7) N6(2+42)

9) \/g(\/ng 5)

11) -2v/5(\/10 + 4)

13) V3(-3v6 ++/5)

15) \15(V6 + 55

17) 4\/5(\/? + \/B)

19) V3(3v10 +4)

21) V2(\6 +~/10)

ID: 2
Name

Date Period

2) \/E<\/§+\/E>

4) 4\/5(\/5+\/E)

6) \3(5v/5 +3v6)

8) V2(-5v2 + v/6)

10) \/15(4-2/6)

12) #/5(x/5+3)

14) ~2V/6(\6 +5)

16) 3V5(V2 +5)

18) —5\/%(\/;+ 5)

20) sv6(3++/6)

22) -2710(-4\10 + 572)



Algebra 1

Assignment

Simplify.

1) —4v5(2+a4/2)
—&\5 — 16710

3) V6(2n2 +4)
NERND

5) 4N 10(/5 +1/2)
20N2 -85
7) N6(2+42)
6 -23

9) \/g(\/ng 5)
6+5\/g

11) -2v/5(\/10 + 4)
~1N2 - 85

13) V3(-3v6 ++/5)
—9\/5+\E

15) \15(V6 +5v5)
W10 +25v3

17) 4\/5(\57%/5)
430 + 40

19) V3(3v10 +4)
3\@ + 4\6

21) V2(\6 +~/10)
2N 3 +2\/§

ID: 2
Name

Date Period

2) \/E(\/ng\/E)
N30 +24s

4) 4\/5(\/5+\/B)
8\/5 + 40

6) \3(5v/5 +3v6)
V15 + N2

8) V2(-5v2 + v/6)
-10 + 10\6

10) \/15(4-2/6)
w1s - V10

12) #/5(x/5+3)
20 + 1245

14) ~2V/6(\6 +5)
“12- 1076

16) 3V5(V2 +5)
W10 + 155

18) —5\15(\/3 +5)
_157/5 — 25715

20) sv6(3++/6)
15V6 + 30

22) -2710(-4\10 + 572)
80 — 20\'5



ID: 3

Algebra 1 Name
Assignment Date Period___
Simplify.

1) V3(5+12) 2) V15(4+s)

3) N15(-4V6 +4/5) 1) -3W15(3+5V3)

5) V1s(3+2v10) 6) V10(5 +Vs)

7) N5(4-4s) 8) V2(\10 - 42)

9) \3(\3-4/2) 10) V5(\/5 +1/2)

11) V5536 +2) 12) V5(45 +2)

13 i0(_sv2 +VT0) 14 VTS(36 +2)

15) \6(\2 +1/3) 16) 2v/6(n/2 +4)

17y A15(x10 + ) 18 2(2+ 2)

19) A5(_s33 +3) 20) N3N0 +5)

21) N6(/3 +2) 22) \/5(-3\3 +/10)



Algebra 1

Assignment

Simplify.

1) \3(5+12)
5\6 +\£

3) \/E(_4\/E+\/§)
—12V 10 + S\E

5) \/E(3 +2\/B)
W15 + 1006

) Ns5(4-a/s)

4N5 =20

9) \3(\3-4/2)
3-m/6

11) V15(-5v/6 +2)
15710 +2415

13) 28/10(-5v2 +4/10)
2075 +20

15) \/g(\/5+\/§)
2N 3 +3\/§

17) \/E(\/B+ 3\/g>
s\v6 + 010

19) V/5(-5\/3 ++/5)
~s\15 +5

21) N6(/3 +2)
N2 +2\/g

ID: 3
Name

Date Period

2) N15(4+~/6)
w15 +3v10

2y -3\15(3+ 5¢/3)
15 — 455

6) \/E(S +\/g)
s\10 + 572

8) N2(\10 - #/2)
5 -8

10) \/g(\/g+\/5)
5+m

12) \/g(\/ng\/E)
5+\m

14) s\15(V6 +4/2)
15\@+5\@

16) 2V6(N2 +4)
N3+ 8\/g

18) \/5(2 + 5\/5)

2N2 + 10

20) /s(\10+5)
2+ 55

22) \/5(-33 +1/10)
W15+ 52



Algebra 1
Assignment

Simplify.

1) 2V6(\3 +4/5)

3) \10(3-3v10)

5) \2(—2 ++/6)

7) N15(333 - av10)

9) -3/15(2++/10)

11) \/5(3 +\/§)

13) \15(4+3/3)

15) \/s(\2 +5)

17) 4/3(2-43)

19) \/g(\/g+ 5)

21) V2(-5v2 ++/6)

Name

ID: 4

Date

2) \15(3 ++/6)

1) \3(\3 +2)

6) \/E(S + 4\/5)

8) V15(-/10 +2)

10) V/5(-3v/6 ++/5)

12) —5\/2(4+/6)

14) 57/15(=3710 +3)

16) #V/3(-3\3+4)

18) \10(\/5 -6 )

20) \/B(—\/E+ 2)

22) \/s(\10+4)

Period



Algebra 1

Assignment

Simplify.

1) 2V6(\3 +4/5)
N2 + 30

3) \10(3-3v10)

3N10 - 30

5) \2(—2 ++/6)
-8 +2\E

7) N15(333 a0
s - 2016

9) -3/15(2++/10)
—\15 — 156

11) \/5(3 +\/§>
3\@+5\5

13) \V15(4+3\3)
4N 15 +9\/§

15) \/s(\2 +5)
\m+5\/§

17) 13(2-4/3)
8\/3 - 12

19) \/g(\/g+ 5)
5+5\/§

21) V2(-5v2 ++/6)
—10+2\E

ID: 4
Name

Date Period

2) \15(3 ++/6)
W15 + 3710

1) \3(\3 +2)
3+2\E

6) \/E(S + 4\/5)
5\@+ S\E

8) V15(-/10 +2)
—15\/g+2\5

10) V/5(-3v/6 ++/5)
W30 +5

12) —5\/2(4+/6)
20v2 - 1073

14) 57/15(-3710 +3)
7576 + 15715

16) #V3(-3\3+4)
36+ 16\3

18) \10(\/5 -6 )
s\2 — /15

20) \/E(—\/E+ 2)
“10+24/10

22) \/s(\10+4)
V2 +4\/§



Algebra 1
Assignment

Simplify.

1) \/ﬁ(\/BJr 4\/g>

3) 3W15(376 +3310)

5) \/g(\/g+2\/5)

7) s\5(4+4/5)

9) V6(3+/3)

11) V10( 45 +~/2)

13) -/15(\2 - 33/10)

15) \/E(\/EM/B)

17) \5(-5\10 +4)

19) \6(2 - 5v6)

21) \/g(\/ﬁ+\/§)

Name

ID: 5

Date

2) s(/5 - 46)

4) \/E(\/g+\/ﬁ)

6) \/E(_\/L\/E)

8) V3(3+1/2)

10) 2v3(+s5 - #V6)

12) 33(\6 +4)

14) 3V5(\/5 +5)

16) \/E(—\/E + 5)

18) \/15(3 +/6 )

20) \V3(3-36)

22) W3 (W5 +4)

Period



Algebra 1

Assignment

Simplify.

1) V10(\10 + 4V6)
10+ 8\15

3) 3W15(376 +3310)
27710 + 4576

5) \/E(\/E”\/E)
w2+ 26

7) s\5(4+4/5)
205 + 25

9) V6(3+/3)
W6 +3\2

11) V10( /5 +1/2)
20V 2 +2\/§

13) -/15(\2 - 33/10)
~/30 + 60N/6

15) \/g(\/g+\/ﬁ)
\E+5\/§

17) /5(-5v10 + 4)
25\2 + a5

19) \6(2 - 5v6)

2N 6 -30

21) \/g(\/ﬁ+\/§)
\@+3

Name

ID: 5

Date

2) s(/5 —a6)
5+4\@

4) \/E(\/g+\/ﬁ)
6+2\E

6) \/E(—\/;+\/g>
—3\6+\/§

8) V3(3+12)
3\E+\£

10) 2v3(+s5 - #V6)
2\/E - 24\/5

12) 33(\6 +4)
9\5+ 12\5

14) 3V5(\/5 +5)
15+ 15V5

16) \/B(—\/E+5)
-2N5 + 5\@

18) \/15(3 +/6 )
W15 + 310

20) \V3(3-36)
W3 -2

22) 33(n/5+4)
W15+ 1243

Period



Algebra 1
Assignment

Simplify.

1) \/E(\/BJA/E)

3) s\s(4+4/5)

5) \/B(\/B+ 4)

7) -15(2++/10)

9) \/g(\/ng 3)

11) /5(4\/6 - 35

13) \3(-5V6 +4)

15) V5(3v/s ++/6)

17) W15(4+a/3)

19) \'s(\/6 +4)

21) 2(-3W2 - 4/3)

ID: 6
Name

Date Period

2) 33(V10 -2/3)

4y s\10(N10 +5)

6) \3(2+43)

8) V3(3+3v10)

10) 5v/s(2+/5)

12) W6(2+12)

14) 33(\/5 +/6)

16) V2(5+1/2)

18) \/E(S +\/§)

20) \/E(\/E+ 2\/5)

22) ~15(3+/5)



Algebra 1

Assignment

Simplify.

1) V15(x/10 +1/6)
s\v6 + 310

3) s\s(4+4/5)
205 + 25

5) \/ﬁ(\/ﬁ+4)
10+4\@

7) -15(2++/10)
—\15 - 156

9) \/g(\/g+3>
5+3\/§

11) /5(4\/6 - 35
w30 - 15

13) \3(-5V6 +4)
RENCESNE

15) V5(3v/s ++/6)
15 +\/£

17) W15(4+4/3)
12015 +36V/5

19) \'s(\/6 +4)
N30 + 45

21) 2(-3W2 - 4/3)
“12-8v6

ID: 6
Name

Date Period

2) 33(V10 -2/3)
330 - 18

4y s\v'10(\10 +5)
50 + 25710

6) \3(2+43)

N3+ 12

8) V3(3+3v10)
33 +3v30

10) 5v/s(2+/5)
1(}\£+25

12) W6(2+12)
we+m3

14) 33(\/5 +/6)
W15+ 2

16) V2(5+1/2)

N2 +2

18) \/g(S +\/§)
5\g+5

20) \/g(\/ﬁ+2\/5)
W15 +43

22) ~15(3+/5)
W15 -5\3



Algebra 1
Assignment

Simplify.

1) \/ﬁ(\/ng\/g)

3) -6(3+2)

5) \/g(\/5+ 5)

7) ~6(-333 -2)

9) —5\/10(5++/2)

11) N6(\/6 +5)

13) \2(\6 -2)

15) \/s(\/10+2)

17) N15(\6 +3)

19) \/5(5-~/6)

21) -3/3(\10 - 2v/3)

ID: 7
Name

Date Period

2) N's(n2=3/10)

4) \/E(\/L 5\/5)

6) -\6(4+32)

8) 5\/3(5\/5+\/g>

10) \/g(—4\/5 +\/§)

12) \15(4+/3)

14) —10(\/5 +12)

16) 4\/5(\/ﬁ+\/5)

18) V3(3 +/6)

20) N10(v2 +3)

22) 4V3(\s +4/3)



Algebra 1

Assignment

Simplify.

1) \/ﬁ(\/g+\/§>
5\6 +\/£

3) -6(3+2)
—\6 -3

5) \/g(\/5+5>
2 3+5\£

7) ~6(-333 -2)
3672 + 2443

9) —5\/10(5++/2)
25710 - 10V/5

11) N6(N/6 +5)
6+ 5\/g

13) \2(\6 -2)

2N3 -2

15) \/s(\/10+2)
N2 +2\/§

17) N15(\/6 +3)
W10 +3W15

19) \/5(5-~/6)
s\s —~/30

21) -3/3(\10 - 2¢/3)

-3V30 + 18

ID: 7
Name

Date Period

2) N's(n2=3/10)
N10 - 15v2

4) \/E(\/L 5\/5)
5+5\@

6) -We6(4+32)
~1276 - 1873

8) 5\/3(5\/5+\/g>
12576 + 15710

10) \/E(_4\/E+\/§)
—4\m+ 5

12) \15(4+/3)
4\E+3\/g

14) —10(\/5 +12)
202 -85

16) 4\/5(\/ﬁ+\/5)

&V5 +8

18) V3(3 +/6)
W3 +3W2

20) N10(v2 +3)
51310

22) 4V3(\s +4/3)

N15 +12



ID: 8

Algebra 1 Narme
Assignment Date period___
Simplify.

1) Vis(N10+4) 2) -3s5(-25 +5)

3) V10(2+~10) 2 Vo(3+4)

5) V3(-3v3 +5) 6) V3(v3+2)

3N +2) 8 NTS(7 + 73)

o) T0(32 +5) 10y NT5(T0 +5)

1) N15(+V2 - 3/3) 12) 25(4 - 5\10)

13) V105 +3) 14) 10(4+4s5)

15) V10(3 +12) 16) V10(5+/10)

17) A/s(\/5 +202) 18) -2v/5(\/5 +1/3)

19) V(26 +4) 20) Vs(#/10 +3)

21) \/5(\/5 ++/6) 22) \2(N2 + 5)



Algebra 1

Assignment

Simplify.

1) V1s(\/10+4)
V6 + 415

3) \/B(Z +\/B)
/10 + 10

5) \3(-3\3 +5)
—9+5\E

7) \2(N2 +2)
10+ 1072

9) N10(3n2+5)
N5 + 5\ 10

11) V15(V2 - 3v3)
N30 - s

13) N10(\/5 +3)
N2 +3W

15) \10(3 +12)
3W+2\5

17) As(\/5 +20/2)
s-/10

19) \o(2\/6 +4)
12 +4\/g

21) \/5(\/5 ++/6)
5+\@

ID: 8
Name

Date Period

2) -/5(-25 +5)
30— 155

) N6(\3 +4)
W2 + 46

6) \/§<\E+2)
3+2\/§

8) \15(a2 +33)
4\@+9\/§

10) N15(\/10 +4/3)
sv6 + 35

12) /5(4-5\10)
$\/5 - 5072

14) \'10(4 + 4/
4W+ 20\/5

16) V10(5+~/10)
5\10 + 10

18) —2\/?(\/§+\/§)
_10-2/15

20) \'5(4/10 +3)
20\5+3\/§

22) \2(N2 + 5)
2+ 5\/5



Algebra 1
Assignment

Simplify.

1) 2415(5V3 +4/5)

3) —4\/?(\/B+ 4\/5)

5) -/3(2-5\3)

7) s\V6(3+20/2)

9) —2\/B<\E+\/g)

11) \/ﬁ@ +\/B)

13) \N6(\/6 +4)

15) -3\3(N6 +4)

17) Vo(4+1/2)

19) -3v/5(-5v10 +1/2)

21) V/5(53/3 +4/10)

Name

ID: 9

Date

2) 3W2(A3 +42)

2y N15(We6 -2v5)

6 3(410 +5)

8) V/5(4+5V5)

10) 24/3(3+/3)

12) 3W15(244/3)

14) \15(243 +4)

16) \/E(4+\/E)

18) \3(-3v2 +5)

20) \15(+/3 +3)

22) \s(\6 +/5)

Period



Algebra 1

Assignment

Simplify.

1) 2415(5V3 +4/5)
3005 + 1003

3) —a/s (\/B a6 )
20V2 - 16730

5) -/3(2-5\3)

—6N 3 +45

7) s\V6(3+20/2)
15v6 + 2003

9) —2\/5(\/5 +6 )
5 -ml1s

11) V10(3+~/10)
310 + 10

13) N6(\6 +4)
6+ M6

15) -3\3(N6 +4)
~N2 - 1203

17) Vo(4+1/2)
4\@+2\/§

19) -3v/5(-5v10 +1/2)
7572 - 310

21) V/5(53/3 +4/10)
V15 + 2

Name

ID: 9

Date

2) 32(A3 +42)
36 +6

2y N15(We6 -2v5)
W10 - 1003

&) \'5(43/10 +5)
20\5 + \/%

8) V/5(4+5V5)
w5 +25

10) 24/3(3+/3)

6N3 +6

12) 3W1s(2+4/3)
\15 + s

14) \15(243 +4)
N5 + 15

16) N'15(4 +/6)
w15 +3n10

18) \3(-3v2 +5)
e+ 53

20) \15(+/3 +3)
W5 +3W1s

22) \s(\6 +/5)
\@+5

Period



Algebra 1
Assignment

Simplify.

1) N6( 410 +6)

3) 2V/5(-a/5 +4/3)

5) 4\/3(5+/6)

7) \/E(\/B-i— 3)

9) \/g(\/BJr\/g)

11) \10(5+2/2)

13) 2¢15(+/5 + 36 )

15) \15(/5 + 4/3)

17) s\/6(3-~2)

19) \/g(\/ﬁ+\/§>

21) \15(57/10 + 4)

Name

ID: 10

Date

2) \/g(—\/g + 4)

) N5(\3-2v10)

6) 4\/3(-5\/6 +5)

8) V15(-3v10 +1/3)

10) \/3(/3 +4)

12) \V15(5\s - 4/3)

14) 4\15(aN2 +6 )

16) \15(V2 - #3)

18) 2Vs(\3 - #v10)

20) —5\/5(5+5v/3)

22) N6(N2 +3)

Period



Algebra 1

Assignment

Simplify.

1) N6( 410 +6)
V15 + 6

3) 24/5(-a/5 +4/3)
—40 + 2015

5) 4\/3(5+/6)
2003 + 1202

7) \/E(\/B-i— 3)
s\6 + 3315

9) \/g(\/ﬁjt\/g)
5\6+\/§

11) \10(5+2/2)
5\@+4\E

13) 2¢15(+/5 + 36 )
1073 + 18710

15) \15(/5 + 4/3)
-5N3 + IZ\E

17) s\6(3-42)
15v6 — 1073

19) \/g(\/ﬁ+\/§)
2N 15 +3\/5

21) \15(57/10 + 4)
25\@ + 4\@

Name

1D: 10

Date

2) \/g(—\/g+4>
-5+ 4\E

2y Ns(\3-210)
V15 - 1072

6) 4\3(-5\6 +5)
—60\/§+20\E

8) V15(-3v10 +1/3)
—15\/g+3\g

10) \/3(/3 +4)
3+4\/§

12) \V15(5\s - 4/3)
25\3 - 124/5

14) 4\15(aN2 +6 )
168/30 + 12410

16) \15(V2 - #/3)
V30 - 1245

18) 2Vs(\3 - #v10)
15 — 42

20) —5\/5(5+5v/3)
2575 2515

22) N6(N2 +3)
V3 -36

Period



